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COMMENTARY

The Conservatives are up 7 points since 2015 and would gain 30 seats - however the first
polls after the election was called suggested they would gain 125 seats. They would gain
particularly amongst older voters (up 14% since 2015), working-class voters and voters in
the North and Scotland. By contrast, their vote amongst younger voters has actually
dropped slightly since 2015. They were gaining strongly amongst working-class voters, but
it does seem that the traditional class cleavage is reasserting itself somewhat - that said the
Tories are still 3 points ahead of Labour amongst working-class voters. The Tories would
win 126 of the 159 most middle-class constituencies, compared to 24 of the 139 most
working-class constituencies (up from 13 in 2015). They also win 194 of the 220
constituencies with the Oldest age profile (up from 176 in 2013), compared to 21 of the
122 constituencies with the youngest age profile. In fact in the 182 constituencies with the
youngest age profile, they lose 32 seats compared to 2015, as against gaining 22 seats in
the remaining (older) constituencies. Geographically, The Tories lose 6 seats collectively in
London and the South and gain 35 seats in the North, Scotland, Wales and the Midlands.

Labour have held onto their younger vote - in fact they have significantly increased it (up
15% since 2015), but have remained largely static amongst middle-aged and older voters.
They started off the campaign behind The Tories practically everywhere but now lead them
in London and the North and indeed in Wales - which is a big improvement on the near-
complete wipeout there suggested by previous polls.They are now significantly more
popular amongst women than with men. Labour would win just 25 of the 159 most middle-
class constituencies, compared to 108 of the 139 most working-class constituencies. They
win only 14 of the 220 constituencies with the oldest age profile (down from 22 in 2015),
compared to 92 of the 122 constituencies with the youngest age profile (up from 87 in
2015). Labour have gained during the campaign particularly from Female voters — The
Tories led them nearly 2 to 1 at the start of the campaign, but now Labour are only a few
points behind. Similarly they started the campaign nearly 20 points behind the Tories with
working-class voters but are now virtually tied with them.

The Socio-economic profile of Tory and Labour voters is actually quite similar - 37% of Tory
voters are working-class, compared to 43% of Labour voters - but the gap does seem to be
widening. The real difference is the age-profile - Over half of Tory supporters are over 55,
comparely to just over a quarter of Labour supporters, while only one sixth of Tory voters
are under 35, while these younger voters account for 40% of Labour voters,



The Liberal Democrats have fallen three points since the start of the campaign, and so are
back at their 2015 figure. Presently, they look like making two net gains, though the line
between safety and disaster is thin. They fare markedly better amongst middle-class voters
(nearly three-quarters of Liberal Democrat voters are middle-class), and the vast majority
of Liberal Democrats are Remain voters, due partly to a small influx of Remain voters from
other parties, but also because of an exodus of 2015 Liberal Democrat voters who voted
LEAVE. There is a considerable flux in the Liberal Democrat voter base, with nearly half of
their 2015 voters leaving for either the Tories or Labour, being replaced by other voters
coming from those parties. This could possibly be a positive sign inasmuch as that this
churn it could represent the movements of voters intending to vote tactically. 8 of the 10
Liberal Democrats would be in seats that are more middle-class than the National Average.

UKIP entered the campaign with just over half their 2015 vote and now have less than a
third of it. The majority of 2015 UKIP voters now say they are going to vote Conservative
(though a small minority are now switching to Labour as well). They do best amongst
working-class voters, and the vast majority of UKIPers are Leave voters.

The SNP would still retain a majority of the seats in Scotland, even though their vote is
down significantly and the Conservatives look set to take 11 (mainly rural) seats.

The Conservatives been hitherto very successful in retaining their 2015 voters, with 9 out
of 10 consistently saying they are sticking with them, but that is now down to 6 out of
every 7. In addition over half of 2015 UKIP voters and 1 in 6 2015 Liberal Democrat voters
(and 1 in ten 2015 Labour voters) are now intending to vote for the Conservatives. Of
Particular interest is that, despite the fact that the Conservatives are implementing Brexit,
they are managing to hang on to more than 5 out of 6 of their 2015 voters who voted
REMAIN in 2016 (source : ICM polls). This compares to the Liberal Democrats only
retaining less than half of their Leave Voters.

At the time of the Brexit Referendum The Tories were virtually tied with UKIP amongst
Leave voters — they started this campaign 50 points ahead of them, and have strengthened
this lead reflecting polling showing that the bulk of 2015 UKIP voters are now intending to
vote Conservative. By contrast, The Tories started the campaign again virtually tied with
Labour amongst Remain Voters — but have now fallen significantly behind them amongst
this cohort.



BREAKDOWN BY AREA

London Central
London East
London North
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Bedfordshire
Cambridgeshire
Essex
Hertfordshire
Norfolk
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Berkshire
Buckinghamshire
East Sussex
Hampshire
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North East Scotland 3
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DEMOGRAPHICS

Social Grade

ABC1
C2DE

Region
Scotland
Wales
Midlands
North
South
London

2015 Vote
Conservative
Labour
Liberal Democrat
UKIP
Brexit Vote

Remain
Leave

Gender
Male
Female

Age

Young
Middle-aged
Oold

TOTAL

CON

47% (+5)
41% (+8)

31% (+16)
37% (+9)
50% (+8)
41% (+10)
55% (+5)
35% (nc)

85%
9%
20%
54%

30%
61%

46% (+8)
43% (+6)

27% (-4)
41% (+6)
58% (+14)

45% (+7)

LAB

33% (+5)
38% (+4)

21% (-4)
42% (+6)
36% (+4)
45% (+2)
26% (+7)
45% (+2)

6%
81%
23%
16%

47%
21%

32% (+3)
37% (+4)

54% (+15)
36% (+3)
23% (-2)

35% (+4)

LIB DEM

10% (nc)
5% (-1)

7% (-1)
4% (-2)
6% (nc)
7% (nc)
12% (+1)
12% (+4)

4%
6%
54%
2%

13%
4%

9% (+1)
8% (nc)

8% (+1)
8% (+1)
8% (-3)

8% (nc)

UKIP

3% (-6)
7% (-10)

1% (-1)
5% (-9)
5% (-11)
5% (-10)
4% (-11)
5% (-3)

1%
2%
0%
27%

1%
8%

5% (-10)
4% (-7)

3% (-7)
5% (-9)
5% (-10)

5% (-8)

Source : ICM (Fieldwork ending 26th May), ComRes (26”’ May), YouGov (26”’ May), Survation (27"’ May), ICM

(29" May)



CONSTITUENCIES WON BY CLASS MAKEUP

CONSERVATIVES LABOUR LIBDEM GREEN SNP PC

Over 70% Middle-Class 59 -2
65% to 70% Middle-Class 67 +3
60%-65% Middle-Class 94 +2
55%-60% Middle-Class 66 +5
50%-55% Middle-Class 50 +10
50%-55% Working-Class 19 +7
Over 55% Working-Class 5+4
TOTAL 360

Source : British Election Study Census Data

CONSTITUENCIES WON BY AGE MAKE-UP

TORIES
Over 20% more Old than Young 98 +8
15%-20% more Old than Young 96 +10
10%-15% more Old than Young 64 +6
5%-10% more OIld than Young 58 +10
<5% more Old than Young 23-2
<10% more Young than Old 18 -2
Over 10% more Young than Old 3 -1

TOTAL 360

Source : British Election Study Census Data

8 +1
17 -1
18 +2
30
47 -7
50-5
58 -4

218

4 +3

3+1

1-2
1
1

10

0-1

0-1
1-3
4-2
11-2 0-3
11-3
13-1
4

44 1

LABOUR LIBDEM GREEN SNP PC
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3
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TOTAL
71
88

117

108

109
82
57

632

TOTAL
108
112
119
111

60
68
54

632



PROJECTED VOTE SHIFTS

2015 Polls Ending 26/5-29/5 2017
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PARTY DEMOGRAPHIC COMPOSITION

Party Class Composition Polls Ending 26/5 - 29/5
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Party Age Composition Polls Ending 26/5 - 29/5
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Note : “Miiddle-aged” now covers 35-54 — it was previously 35-64. Older now refers to 55+. Turnout
differentials built in.
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